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WOMEN’S STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who said the following ?
“Gender refers to a whole set of expectations held as to the likely behaviour,
characteristics, and aptitudes men and women will have. It refers to the social meanings
given to being a man or woman in a given society”.

(1) Rosemarie Toug (2) Kate Young
(3) Shulamith Firestone (4) Kate Millett

2. Which one of the following pairs is correctly matched ?

List—1 List— 11
(Writers) (View-Points)
I.  Ester Boserup A.  Women are displaced by the process of capital

accumulation and new technology.

Il.  D’Andrade Roy G. B. Privatisation and marketisation have -curtailed
women’s customary access to land in rural areas.

1. Bina Agarwal C. Women are marginalized through the process of
economic development which contributes to their
subordinate status.

IV. Maithreyi Krishnaraj D. Participation in economic activities to power and

control.
Codes :
| 1 1 AV
1) A D C B
) C D B A
3) B C A D
4) D A B C

3. Who said the following :
“Women are not powerless because they are feminine, rather they are feminine because
they are powerless, because it is a way of dealing with the requirements of subordination”.
(1) Kathy E. Ferguson (2) Sherry Ortner
(3) Martha C. Nussbaum (4) Kathlen Staudt

4. Who had coined the term “Third Wave Feminism’ ?
(1) Alice Walker (2) Rebecca Walker
(3) Jane Adams (4) Mary Richmond
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5. Which of the following Ministries support the UGC initiative of ‘Gender Champions’ in
Educational Institutions ?

(1) Ministry of Education and Ministry of Women and Child Development

(2) Ministry of Women and Child Development and Ministry of Human Resource
Development

(3) Ministry of Education and Ministry of Youth Development
(4) Ministry of Youth Development and Ministry of Human Resource Development

6.  Who said the following ?

“The language of a particular culture does not serve all its speakers equally, for not all
speakers contribute in an equal fashion to its formulation. Women are not as free or as
able as men are to say what they wish, because the words and the norms for their use have
been formulated by the dominant group, men”.

(1) Edwin Ardener (2) Cheris Kramarae
(3) Gerdrin (4) Catherine Mackinnon

7. Which form of feminism is most committed to challenging the essentialist nature of the
category ‘women’ ?
(1) Radical (2) Post Modern
(3) Socialist (4) Liberal

8.  Empowerment of women can be achieved through the following measures :
l. Changing the relations of power which constrain women’s autonomy.
Il.  Expansion of women’s ability to make strategic life choices.
I1l.  Enhancement of family income.
IV. Enhancement of assets and capabilities and equal distribution.

Codes:
(1) 1, and Il are correct. (2) Hland 1V are correct.
(3) I, 1, Iland IV are correct. (4) I, 1l and IV are correct.

9.  Which of the following measures can be used for Gender Sensitization ?
l. Review of curriculum and educational materials to include gender education.

Il.  Removal of all references derogatory to the dignity of women from all public
documents and legal instruments.

I11.  Use of social media for the promotion of gender stereotyping.
IV. Promoting societal awareness to gender issues.

Codes :
(1) land Il are correct. (2) 1l and IV are correct.
(3) I, 1land IV are correct. (4) I, 1l and Il are correct.
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10. Which approach of feminism concentrated on rights only in public sphere and neglected

11.

12.

13.

14.

the need for equity of freedom and regard in home life ?

(1) Liberal Feminism (2) Radical Feminism
(3) Socialist Feminism (4) Maxist Feminism

The Chameli Devi Award is given to an outstanding woman who is a ?
(1) Vocalist (2) Lawyer
(3) Journalist (4) Scientist

Which of the following is correctly matched ?

List— 1| List— 11
(Author) (Book)
I.  Vanishree Joseph A. Women as National Leaders
Il.  Urvashi Butalia B. Women in Indian Parliament : A Critical

Study of their Role

1. Michael A. Genovese C. Capability of Elected Women Representatives
on Gender Issues

IV. J.K.Chopra D. Women Speaking Peace, Voices from
Kashmir
Codes :
| 1 i v
1 A C D B
2 ¢C B A D
(3) B C D A
4 C D A B

Assertion (A) : Social Entrepreneurs seek to transform societies at large rather than
transforming their profit margin.

Reason (R) : Social Entrepreneurs use a variety of resources to bring societies into better
state of well being.

In the context of the two statements, which one of the following is correct ?
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are wrong.
(3) (A)is correct, (R) is wrong. (4) (A)iswrong, (R) is correct.

Which of the following has formally started a complaints cell to deal with the issues
related to the “Indian Women Deserted by Non-Resident Indians (NRIs) Husbands with
the support of the Ministry of Overseas Indian Affairs in 2009 ?

(1) Human Rights Commission (2) National Commission for Women
(3) National Minorities Commission (4) Rashtriya Mahila Kosh
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15.

16.

17.

18.

19.

20.

As per the Global Hunger Index (2008) which one of the following states falling in
extremely alarming categories :

(1) Madhya Pradesh (2) Andhra Pradesh

(3) Uttar Pradesh (4) Kerala

Christians in India, are governed by the Indian Divorce Act, 1869. Under the Act, both
husband and wife can obtain a divorce, but there is a great difference between the rights of
the husband and the wife. The husband can obtain a divorce if the wife has committed
adultery. The wife can seek a divorce on which of the following grounds ?

l. Husbands’s conversion from Christianity and marriage with another women;

Il.  Incestuous adultery

I1.  Bigamy with adultery

IV. Marriage with another woman with adultery

Which of the following is correct ?

Codes :
(1) 1, lland 111 only are correct. (2) I, and IV only are correct.
(3) I, Hland IV only are correct. (4) L1, 1land IV are correct.

In Social Research which type of following approaches does focus on the disadvantaged
subjects to define their problems, define the remedies, designing the research that will
help them to realize their aims ?

(1) Survey Research (2) Feminist Research

(3) Participatory Action Research (4) Qualitative Research

Which of the following is incorrect about ‘The Sexual Harassment of women at workplace

(Prevention, Prohibition and Redressal) Act, 2013 ?

(1) The Act covers all women, irrespective of their age or employment.

(2) It covers all workplaces both in public and private sector, whether organised or
unorganised.

(3) The Internal Complaints Committee shall complete the enquiry within a time period
of thirty days.

(4) AIll workplaces employing 10 or more workers are mandated to constitute an
internal complaints committee.

Which among the following Union Territories has the highest percentage of Female-
headed households ? (2011)

(1) Andaman and Nicobar (2) Delhi

(3) Lakshadweep (4) Puducherry

Who is not a Post-modern Feminist ?
(1) Julia Kristena (2) Heléne Cixons
(3) Mary Daly (4) Luce Irrigray
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18.
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20.

ToleeT R ashich 2008 % AR fcifad o & i T 757 21 fadrse SIon | 377 & 2
(1) we e (2) g W
(3) I (4)

IRT H TAE ARG foame-fawms atufam, 1869 sRT Avenfad &ia & | sifuft1aw & 3idva ufd
3 oAl ST ol BTl oY Hehdl & oifeh, Ui 31 et o SARIepRI o &g 9RI ST & | 9id 39
gRfEfa § el efeel he Hehdl & STd Todt 3 STReBH {6l &1 | Tl (fetiad o 9 fobT e
T TAT BT HT Tebell € 2

I, ofq 1 SAEYd 9 YH-IReEdT SR gt Afeet 9 foame & |

I, TS SR

1. SReH afed iaems

IV. SIReH % 91 3O Aigen & o

frfafad 5 9 w9 @1 € 2

B!

(1) Faa l, Il S T E | (2) FaaAl, Il ARV TIE |
(3) e I, [l AT IV T E | (4) FaA I, 1, 1 ATV TIE |

ISt 3FEYH | Fefeiad B ¥ 68 YR T e afd AN i TS i aRid
FHH, GURTHS U MG &, TH SHEM Hi MEHeT A % 6 39 (dfad ArTienh) 1
&I HFEA AT & Y 37 AT i BMael e H g fHer 2

(1) T ST HE (2) FRER SFHEE

(3) il fopar SrEE (4) TOTCHE ATEYE

FHIRIA T AT A ScdieT (AhA™, Fue g Femorn) sifuftaw 2013 & foug ¥ Hefarad §
H B G TeAd & ?

(1) erfafrem o ferdl ot S5 a1 USTIR ol Telt Aoy i € |

(2) =T 3T G YR & HELI et a1 Fetl, Giad a1 rmied IFt o € |

(3) fafes Rerwraa afafa st St g fet o et erafy o g1 3 |

(4) T HEE ST 10 A1 3Tt T S & o8l AN PTehd AHtd 1 T e € |

frfafaa dg wnfaa &= § 9 fad vfeet Te-umEi & ufderddr gaitdes (2011 3 STOET &
IFEN) § 2

(1) feaH FepEr (2) feeet
(3) M 4) 9=
frferfiaa o @ i ST Iy AREET 76l § 2

(1)  Sffern ffeer (2) o faw
(3) R e (4) o

J-74-16 9 Paper-I1



21.

22.

23.

24,

25.

In 2012, along with the VV-Day movement ‘One Bullion Rising’, a global protest campaign
to end violence, and promote justice and gender equality for women was created by

(1) Shiri Ensler (2) Whoopi Goldberg

(3) EveEnsler (4) Jane Ballop

Which women and gender activities and experts Global Network working for Gender and
climate change was started at the UNFCCC’s 9™ Conference of Parties (COP) in Milan in
2003 ?

(1) Green Belt Network

(2) Gender CC-Women for Climate Justice

(3) Acao Democratica Feminia Gaucha

(4) Nekabaru Change Network

Which of the following is correctly matched ?

List—1 List — 11
(State) (Female Literacy Rate 2011)
. Jammu & Kashmir A. 53.3%
Il. Madhya Pradesh B. 59.5%
I11. Bihar C. 58.0%
IV. Arunachal Pradesh D. 60.0%
Codes :
| I Il v
1) D A C B
2 C A D B
3) A D C B
4) C D A B

Which one of the following thinker’s said “within the family, he is the bourgeois and the
wife represents the proletariat” ?

(1) G.B. Shaw (2) Rosa Luxemberg
(3) Frederick Engels (4) Clara Zetkins
Which one of the following pairs is correctly matched ?
List—1 List—11
(Thinkers) (Ideology)
I.  Alison Jaggar A. Socialist Feminism
Il. Jacques Lacan B. Symbolic Order
I1l.  Sigmund Freud C. Dual Parenting
IV. Dinnerstein and Chodorow D. Biological Determinism
Codes :
| 1 i v
1 A B C D
2 A C D B
3) A B D C
4) B C D A
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26.

27.

28.

Which one of the following pairs is correctly matched ?

List—1 List— 11
(Social Entrepreneurs) (Organisations)
I.  Susan B. Anthony A. Founder of the Planned Parenthood
Federation of America
1. Dr. Maria Montessori B. Founder of Modern Nursing
I11.  Florence Nightingale C. Developed the early Childhood
Education Approach
IV. Margaret Sanger D. Fought for Women’s Rights in the
United States
Codes :
I I i v
1) A B C D
2 B D A C
3) D C B A
4) C A D B

Under Muslim Law, a husband has an absolute unlimited right to repudiate the marriage at
his will. This is known as Talag. A muslim woman has no such right to dissolve her
marriage. Under traditional law a wife is permitted to seek dissolution of marriage :

What is it termed ? When

There is a dissolution by an agreement between the parties to the marriage, on the wife’s
giving some consideration to the husband for her release from the marriage bond. The
terms are a matter of bargain and usually takes the form of the wife giving up her dowry.

(1) Talaqi Tafwid (2) Mubarrat
(3) Khula (4) Zihar

Assertion (A) : Feminists have been more fragmented on diverse issues in India than ever
before in Post independence period.

Reason (R) : Feminists have not been able to indentify any common issue or even
attempted to identify a common and significant issue to promote women’s equality.

Which of the following is correct ?

Codes :

(1) Both (A) and (R) are wrong.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(3) (A)is correct, (R) is wrong.

(4) Both (A) and (R) are correct and (R) is not an explanation for (A).
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(4) (A) 3R (R) IHT W& & 3R (R), (A) i =0 T8 ¢ |
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29.

30.

31.

32.

Which of the following is a primary agency for gender construction ?
(1) Caste (2) Class

(3) Social System (4) Family

Which of the following is correctly matched with regard to the Total Women Police as
percentage of the Total Police Force in the States as on 1-1-2014 ?

List-1 List— 11
(State) (Women
Police)
I.  Maharashtra A, 4.82%
Il. Assam B. .93%
1. Bihar C. 10.48%
IV. MadhyaPradesh D. 3.4%
Codes :
I I Il v
1) A D C B
2 C B D A
(3) B D A C
4) D B C A

Assertion (A) : In Indian Society, differences based on caste, class, race and estate system
distinguish the life and problems of women in different parts of the country.

Reason (R) : The process of development and change is not having uniform impact on the
various sections of women in the country.

Which of the following is correct ?

Codes :

(1) (A)iswrong but (R) is correct.

(2) Both (A) and (R) are correct but (R) is not the explanation for (A).

(3) (A)is correct, but (R) is wrong.

(4) Both (A) and (R) are correct and (R) is the correct explanation for (A).

Which of the following term is used in the Reproductive Technology for a procedure in
which an “egq is fertilized by sperm in a laboratory dish” ?

(1) Gamete Intrafallopian Transfer ~ (2) Invirto Fertilization
(3) Artificial Insemination (4) Embryo Transfer

Paper-I1 14 J-74-16



29.

30.

31.

32.

o =me & fow (=feiiad o 9 i Tk urefiyes Tsidl & 2
(1) ifd ) @t
(3) WIS FoTe (4) uER

T | 1-1-2014 &t R % SFAR FoA JoAd It Sl ARIaal & €9 H ol et Jod & Jay
H fAfcfad 5 ¥ iF gafed ¢ 2

= - | = - 1
(r=3) (Afee afer)
. TR A 4.82%

X

. 3w B. .93%
. f=r C. 10.48%
IV. 7@ weer D, 3.4%
FHT:

R | I 1 TR AV
1) A D C B
2 C B D A
By B D A C
4 D B C A

A (A) : YRAE TAST § ST, a9, USTd 3 GEET J0Tell 0 STERa SR @ 397 & -
Tor=T 9mTt o feemrett o Se va geenet | foug e € |

% (R) : fahra va ageta sl ufshar &1 397 | Afgetal & iy st o Thase q9e el et ¥ |

fAferfiaa o @ i w2

£

(1) (A) T & it (R) W& € |

2) (A) 3R (R) I & & ik (R), (A) Ht T&t AR T8 € |

(3) (A) T & afeH (R) T & |

(4) (A) 3R (R) I Tl & 31X (R), (A)  Tel AT |

TSI WTEiiTeh! o uge 39 fsharfaty & fou fefaiad § @S-8 21 &1 g fohar ST €
TSTEw “3ieT Ush YAt Ur | Y[k 517 Ffed fepar strar &7 2

(1) THE sthelita 2wt ) TR HeomseE
(3) FHHW IEHHTA (4) o1 TR
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33.

34.

35.

36.

Which one of the following is incorrect about marginalization ? Marginalization is a

process :

(1) Where a group of individuals are separated from the rest of society.

(2) Where a group of individuals are forced to occupy the fringes considered to be a part
of society.

(3) Where a group of individuals are excluded socially on account of inherited
identities.

(4) Where a group of individuals are included without the bases of gender, ethnicity,
language and religion.

Assertion (A) : “Advancing gender equality may be one of the best ways of saving the
environment and countering the dangers of overcrowding and other adversities
associated with population pressure.

Reason (R) : “The voice of women is critically important for world’s future not just
women’s future”.

In the context of the two statements, which one of the following statement is correct ?

Codes :

(1) (A)istrue, but (R) is false.

(2) (A)is false, but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation for (A).

(4) Both (A) and (R) are true and (R) is not the correct explanation for (A).

Which of the following statements is true of strategic Gender interests ?

l. Relate to status in society in terms of occur to inheritance.

Il.  Concern with the position of men and women in relation to each other is a given
society.

I1l.  Relate to status in society in terms of access to employment based on gender.

IV. Relate to status in society in term of political or social participation based on gender.

Codes :

(1) I, land IV only (2) I, lland IV only

(3) I, I1and Il only 4 L&V

Which of the following is correct about Caste System ?

l. Caste is cultural.

Il.  Caste is universal.

I1l.  Caste and Religion are hard core of Hindu Society.
IV. Caste sets the socio-cultural milieu for the individual.
Use the code below :

Codes :
(1) 1,1, 1land IV are correct. (2) I, 1 and IV only are correct.
(3) I, 1land 111 only are correct. (4) Iland Il only are correct.
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33.

34.

35.

36.

frfafaa § 9 =9 |1 2 W gehet 39 & o) J G&l T@l & 2 B0 W geher 3T Ush Wisha &
(1) o @ 1 U T TET % 99 B 9 STerT 8l ST |

(2) 9" AN % T THE I FHS FH G A A aret Uit (RSt 1 ST & & o
e BT TSl € |

(3) T AT % U WHE I ST Gl i asTe @ HHISTH & F Sfeshd Y 97 S € |
(4) TSTEH AT % UH e Sl folfT, SSI|Ean, S U6 96 o SERT o foT FHias Y forar
ST E |

ATUHUA (A) : “TATERT B T, TE-TTE & T B T FH T SIS 376 F Gared 3
gfcalt & e & forT-Sara & ST Stad A € 17

aqF (R) : AfecTsT i ST (e fave & i &g Ted 9 F Tevash & 7 o Phael Afeennsit
% =T & |

ST T o TIH H 91 § A 1 e € 2

E T

(1) (A) ¥FE TG (R) Tod ¢ |

(2) (A) e WG (R)TIE |

(3) (A) 3R (R) I T € 3% (R), (A) i T& AR & |

(4) (A) 3R (R) IH 9 & 3T (R), (A) F Tel =7 &l ¢ |

HewquT Witk (Sie?) fedl & aR | frfatad § & $iF-31 S el € 2

I, forrd o ufa iy it giteal @ wamt 9 dfaga 9 defd

II. U U U qusT § g5t Ud Afeetrsti & Ush-ga o Ufid Hey @i et 9 defea |

1. o & 3menfia TSHIR & Ui STATega <l gitedt & Tt | feafd | Gaf |

V. Torm o2 e TSt a1 AreisTeh UiaeiiTar i gitear & 9ot § 2fqad § Hetad |

&
(1) a1l IV (2) aa |, 1l TE IV
(3) wae |, Il wd I 4) 11wV

ST e & o) § Fefated § 9 i a1 9@ € 2

I, Sd A |

Il STiq feoreaemdt € |

1. ST qem o &g qET 1 Asted oe @7 %) § |

V. Siq safe & fee AmmisTeh-Siepia arareRoT Fad T & |

ffaiad e & TamT &

H !

(@) LI naeiV e | (2) FaAl, T IV T E |
(3) eI, Il T Il T E | (4) et |l T4 ] T |
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37.

38.

39.

40.

41.

Which of the following is correct with regard to the criteria adopted in 2011 census for
Gender Critical Districts ?

(1) Sex Ratio less than 900, Female Literacy Rate less than 30 percent and Female
Work Participation Rate less than 20 percent.

(2) Sex Ratio less than 870, Female Literacy Rate less than 40 percent and Female
Work Participation Rate less than 20 percent.

(3) Child Sex Ratio less than 900, Female Literacy Rate less than 30 percent and
Female Work Participation Rate less than 10 percent.

(4) Child Sex Ratio less than 850, High IMR and High Malnutrition Rate.

Which among the following states has the highest percentage of female headed
households as per 2011 Census ?

(1) Kerala (2) Uttarakhand
(3) Meghalaya (4) Manipur

Which of the following is correct about Masculinities and Feminities ?
Masculinities and Feminities are :

I.  Changing across time and space.

Il.  Based on Biological determinism.

I1l.  Socially constructed rather than naturally.

IV. Gendered rather than non-gendered.

Which of the following is correct ?

Codes :
(1) u,Mrand IV only (2) I, lland IV only
(3) [landllonly (4) landIllonly

Which among the following states in India is the first state to start on the recommendation
of the State Commission for Protection of Child Rights, Child Friendly Police Stations ?

(1) Bihar (2) Chhattisgarh
(3) Maharashtra (4) Madhya Pradesh

How many States in India as of 2016 have given 50 percent reservation in local bodies
both rural and urban ?

(1) 8 States (2) 12 States
(3) 16 States (4) 17 States
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37.

38.

30.

40.

41.

form =6t gfte & agmeiier ittt # 2011 &t SHIUET | SO T AFEE o AR Wel §
(1) 900 ¥ ¥ form 3rura, 30 Wierd ¥ 7 Afeet QeRAT X, 20 Hfaerd ¥ F7 Afget H-
HETATAT

(2) 870 ¥ =¥ ol U, 40 WRTeTd & i AfecT-HERal % a7 20 HaeTd ¥ A Hieel Hia-
HEHITT 8T

(3) 900 ¥ &Y aret foT 31U, 30 WiaeTd & 1 Ofeett TeRdr 3T dar 10 ufastd ¥ %1 gfeet
HTI-FEHATAT 3T

(4) 850 ¥ A T [oT7T ST, 3o 31E TH 3R 7T 329 FHUTT X

frefafed Tt o ¥ foow U9 ° Afeen Te-UEl & Aaeraar (2011 3 SEIOET % 3TEY)
aifuss € 2

(1) == 2) swEE
(3) wHEw™E (4) =T

frefafed 5 9 S 5T 3R AR % a) § &l ¢ 2
TEIe 3R AR EATATEd §

I, THF 3R Hl & AR T&eTd

1. ifae Frafdemr @ smERa

1. s ®9 & W, 7 5 urpias &9 9 |
IV. Torr-smamRd, 7 i ot-for-amaia

frfafea 5 9 =9 T e 2

ETE

(1) ad 11, 111 3T IV (2) ae I, 11 3R IV
(3) HEAI AR (4) A R I

FAfAfEd § ¥ YR 1 98 i 9T T8l ToT 7 (591 9gell I T3 ST i Fwier W T 5
T SAHRT ! R & ST S1eT e (TNees Hheel) qferd o bt ST i 2

(1) feer (2) wETE
(3) TR (4) T U

2016 = fefd & AR 9RA § b= Toat = AT X ¥R 3T @I e | 50 wiaer
3RET0T < fam & 2

(1) 8TsH (2) 1279
(3) 16w= @) 177
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42.

43.

44,

45.

46.

47.

Which of the following is correct about ‘Grounded Theory in Research’ ?
(1) Itisan Inductive approach

(2) Itisa Deductive approach

(3) ItisaHypothesis Testing approach

(4) Itis mostly used for Quantitative Research

Which feminist thought suggests that gender equality can be realized by eliminating the
cultural notion of gender ?

(1) Post Modern Feminism (2) Socialist Feminism

(3) Radical Feminism (4) Neo-classical Feminism

India is a home to more adolescents than anywhere in the world.
Which one is correct of the following ?

1) 2% (2) 25%

3) 23% 4) 21%

Which Section of IPC deals with word, gesture or act intended to insult the modesty of a
woman ?

(1) Section 498A (2) Section 499

(3) Section 503 (4) Section 509

Which of the following is incorrect about ‘Sukanya Samridhi Yojana’” ?

(1) Girl Child Prosperity Account Scheme.

(2) The scheme provides interest rate of 8.6% for the Financial year 2016-17.

(3) Account can be opened anytime between the birth of a girl child and the time she
attain 18 years of age.

(4) Parents of girl children can open the account for a maximum of two children.

Which one of the following pairs is correctly matched ?

List— 1 List— 11
(Personalities) (Fields)
I.  Meena Kandaswamy  A. Social Activist
Il. Rehana Jhabvala B. International Squash Player
I1l.  Shubha Tole C.  Writer
IV. Dipika Pollikal D. News Scientist
Codes :
I I i v
1) A B D C
2 D A B C
3) C A D B
4) C D A B

Paper-I1 20 J-74-16



42.

43.

44,

45.

46.

47.

‘ST T TR faguia’ & aR | fetatad § 9 91 @ e o
(1) ¥ UH 3T gieshion ¢ |

(2) TE U T gitehor € |

(3)  TE UTHheTAT TRIETUT SRZshiuT € |

(4) T ARIHaR TETCHSE T % T v BT € |

HE-U ARERT G Gt & & Al T o 6l Qiepide 9Ron & RET gRT afget &t i
Tl & 2

(1) I MYHF e (2) wEEER! ARER
(3) HifeTh e (4) T TRER
3T & ot ol off qorT § 9Ra | 31 G 1 R e § |
frefefad 5 @ %1 W@ e 2

1) 27% 2) 25%

3) 23% @ 21%

3 Ot Tt o fore aR=sg o 3idTa OIRT (=R a1 % (T) S el aféet & 3ee § 4Ret &
fTT 3ToHM S el &, ST |

(1) uR=% 498 A (2) uf=a% 499

(3) uR=a% 503 (4) uf=3% 509

frfefad & 9 ‘g1 9gig T & fowa | i 91 98 @ € 2

(1) ST Tgfg QT s

(2) FISHT % ST ford I 2016-17 % IRT-3F AT H 8.6 WA AMGH TS U 2T |
(3) & Wl SIfeTehT % UST B % THT ¥ A STk 18 Y i 3Tg Tk WieAl ST qehelT & |
(4) U ANTIE ATHan I AR & A9 W T8 ST GoraT Tl ¢ |

frfafad 5 & M 91 g W&l ¢ 9 guferd T 7 € 2

et - | =t -
(cAferTe) (&%)
|. i hier@aE A, QIS Skl
. WATEEET B, i e fgeret
1. ¥ aret C. w@®
V. fgdier difeiber D, THEMER famm
T4
[ | I 1T \V/
1) A B D C
2 D A B C
B C A D B
4 C D A B
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48. Assertion (A) : The Dalit women face gender based discrimination and exploitation from
the patriarchal system inside and outside their homes also.

Reason (R) : The interface of the imbalanced social, economic and political power
equations in caste patriarchy impacts Dalit women very distinctly from the
experience of other women and even Dalit men.

Which one of the following is correct ?

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

49.  Who among the following from India is a Member of the UN Secretary-General’s High
Level Panel on Women’s Economic Empowerment ?

(1) Jayati Ghosh (2) Renana Jhabvala
(3) Devaki Jain (4) Bina Aggarwal

50. Which of the following are correctly matched ?

List— 1| List— 11
(Articles of CEDAW) (Issues Covered)
I.  Article 6 A. Trafficking and Prostitution
Il.  Article 10 B. Rural Women
I11.  Article 13 C. Economic and Social benefits
IV. Article 14 D. Education
Codes :
| 1 i v
1) D C A B
2 A D C B
3 B C A D
4 C A B D
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48.

49.

50.

AR (A) : 3 AfeaTt 310 =X % HioR X aeY ot TUgamicass Jonelt § forT e Jewme
3{IY SMYOT BT TIEAT Bt & |

qF (R) : ST UgamTcds ol H STqieid QmisTeh, T e i I FHieon &
THY I T Aieoy, 31 Afgemtet 3R F87 e o gfotd Il % o9 ¥ =1 &7 |
wIfere B € |

frfefad & @ %9 @& ¥ 0

£ T

(1) (A) 3R (R) IHT W&t € IR (R), (A) F T& AT E |

(2) (A) 3R (R) I Tt € A, (R), (A) i Fel A T ¢ |

(3) (A) & & e (R) Toid € |

(4) (A) e €, |fs (R) e |

IRT & FH=TArEd B ¥ B Afeetsti o e TRl W §ga T Herrad & 3o Tl
T Y Uk T & 2

(1) St = (2) ¥AET ST
(3) TR S (4) T eEEe
frfofad & & i w8 w9 § gaferd € 2
it - | =it - 1
(TR TS B (i 17)
IT)
l. T35 6 A. 309 SR e oy
Il. =g 10 B, WM Afeemd
Il 3M=T 13 C. 3fIeh o1 [T o
IV. =314 D. R
T4
N R TRV
1) D C A B
@2 A D C B
3 B C A D
4 C A B D
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